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CLASS: 12
th

 (Sr.Secondary) 

Practice Paper   2022-23                       SET-A 

 

Roll No.  

 

गणित 

MATHEMATICS 

[Hindi and English Medium]  
(ACADEMIC/OPEN) 

 
[ Time allowed: 3 hours]                [maximum Marks: 80] 

 कृऩमा जाॉच कय रें कक इस प्रश्न-ऩत्र भें भुद्रित ऩषृ्ठ 13 तथा प्रश्न 20 हैं I  
 Please make sure that the printed pages in this question 

paper are 13 in number and it contains 20 questions.  
 प्रश्न-ऩत्र के दाईं ओय द्रदए गए कोड नंबर को छात्र द्वाया उत्तय- ऩुस्ततका 

के ऩहरे ऩषृ्ठ ऩय लरखा जाना चाद्रहए I  
 The code No.on the right side of the question paper should be 

written by the candidate on the front page of the answer-book.  
 ककसी प्रश्न का उत्तय देना शुरू कयने से ऩहरे उसका क्रभाॊक लरखना होगा |  
 Before beginning to answer a question, its Serial Number must 

be written. 
 अऩनी उत्तय ऩुस्ततका भें खारी ऩषृ्ठ/ ऩषृ्ठ न छोड़ें I  
 Don’t leave blank page/pages in your answer-book.  
 उत्तय-ऩुस्ततका के अततरयक्त कोई अन्म शीट नहीॊ दी जाएगी I अत: 

आवश्मकतानसुाय ही लरखें व लरखा उत्तय न काटें I  
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 Except answer-book, no extra sheet will be given.Write to the 
point and do not strikeoff the written answer.  

 ऩयीऺाथी अऩना योर नॊफय प्रश्न-ऩत्र  ऩय अवश्म लरखें I  
 Candidates must write their Roll Number on the question 

paper. 
 कृऩमा प्रश्नों का उत्तय देने से ऩहरे मह सुतनस्श्चत क य रें कक प्रश्न-ऩत्र ऩूणण 

व सही है,ऩयीऺा के उऩयाॊत इस सॊफॊध भें कोई बी दावा तवीकाय नहीॊ ककमा 
जाएगा I 

 Before answering the questions,ensure that you have been 
supplied the correct and complete question paper, no claim in 
this regard,will be entertained after examination.  

सामान्य ननरे्दश: 
(i) इस प्रश्न-ऩत्र भें 20 प्रश्न हैं ,जो कक चाय खण्डों : अ,फ,स औय द भें फाॊटे 

गए हैं : 
खण्ड ‘अ’: इस खण्ड भें एक प्रश्न है जो 16 (i -xvi) बागों भें है ,स्जनभें 6 
बाग फहुववकल्ऩीम हैं I  प्रत्मेक बाग 1 अॊक का है I  
खण्ड ‘ब’ :इस खण्ड भें 2 से 11 तक कुर दस प्रश्न हैं I प्रत्मेक प्रश्न 2 अॊको 
का है I  
खण्ड ‘स’: इस खण्ड भें 12 से 16 तक कुर 5 प्रश्न हैं I प्रत्मेक प्रश्न 4 अॊकों 
का है I  
खण्ड ‘र्द’ : इस खण्ड भें 17 से 20 तक कुर 4 प्रश्न हैं I प्रत्मेक प्रश्न 6 अॊकों 
का है I 
(ii) सभी प्रश्न अननवायय हैं I 
(iii) खण्ड ‘द’ के कुछ प्रश्नों भें आॊतरयक ववकल्ऩ द्रदए गए हैं ,उनभें से एक 

ही प्रश्न को चुनना है I  
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(iv) द्रदमे गए ग्राप ऩेऩय को अऩनी उत्तय- ऩुस्ततका के साथ अवश्म नत्थी 
कयेंl 

(v) ग्राप - ऩेऩय ऩय अऩनी उत्तय -ऩुस्ततका का क्रभाॊक अवश्म लरखें I  
(vi) कैरकुरेटय के प्रमोग की अनभुतत नहीॊ है I  
General Instructions : 

(i) This question paper consists of 20 questions which are 
divided into four sections : A,B,C and D : 

Section ‘A’ : This Section consists of  one question which is 
divided into 16 (i - xvi) parts of which 6 parts of multiple choice 
type. Each part carries 1 mark.  
Section ‘B’: This Section consists of ten questions from 2 to 11. 
Each question carries 2 marks.  
Section ‘C’: This Section consists of  five questions from 12 to 16. 
Each question carries 4 marks.  
Section ‘D’: This Section consists of  four questions from 17 to 
20. Each question carries 6 marks.  

(ii) All questions are compulsory.  
(iii) Section ‘D’ contains some questions where internal choice s 
have been provided.Choose one of them. 
(iv) You must attach the given graph-paper along with your 
answer-book. 
(v) You must write your Answer-book Serial No. On the graph-
paper. 
(vi) Use of calculator is not permitted. 
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खण्ड-अ 
SECTION - A 

1. (i) भान रीस्जए कक f :R         R  , f x = x4    द्वाया ऩरयबावषत है I 
सही उत्तय का चमन कीस्जए                                              1                   
(A) f एकैकी  आच्छादक है  
(B)  f फहुएक आच्छादक है  
(C)  f  एकैकी है ककॊ तु आच्छादक  नहीॊ है  
(D)  f न तो  एकैकी है  औय न आच्छादक  है I  
Let  f :R         R be defined as f x = x4 .  Choose the correct 
answer. 
(A)  f is one-one onto  
(B)  f is many-one onto  
(C)  f is one-one but not onto  
(D) f is neither one-one nor onto  
(ii) cos−1(cos 7𝜋 

6 
) का भान फयाफय है :                                                                   1 

(A)
7𝜋

6
        (B  

5𝜋

6
     (C)  

𝜋

3
   (D)

𝜋

6
 

                              
 cos−1(cos 7𝜋 

6 
) is equal to                                             

(A)
7𝜋

6
        (B  

5𝜋

6
     (C)  

𝜋

3
   (D)

𝜋

6
 

(iii)A=[aij]mxn ,एक वगण आव्मूह है मद्रद :              1 
(A)m<n          (B)m>n        (C)m=n      (D) none of these 
 
A=[aij]mxn ,is a square matrix,if  
(A)m<n          (B)m>n        (C)m=n      (D) none of these 
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(iv)मद्रद A एक 3 x 3 कोद्रट का वगण आव्महू है तो l kAl का भान 
होगा:                                                                                                                   1 

(A) klAl        (B)k2lAl     (C) k3lAl       (D)   3k lAl  
 
Let A be a square  matrix of order 3 x3, then l kAl is equal to  
(A) klAl        (B)k2lAl     (C) k3lAl        (D)  3k lAl 
 

(v)  f(x) = sin( x2) का अवकरज ऻात कीस्जए I                                                    1 

 
 Find the derivative of the function given by f(x) = sin( x2) 

 

(vi) एक उत्ऩाद की x इकाईमों के ववक्रम से प्राप्त कुर आम रूऩमों भें  

 R(x)= 3 x2 +36x +5 से प्रदत्त है जफ x=15 है तो सीभाॊत आम है :            1 
(A)116                             (B)96 

(C)90                              (D)126 

 
The total revenue in Rupees received from the sale of x units of 

a product is given by R(x)= 3 x2 +36x +5 .The marginal 

revenue,when x=15 is  

(A)116                          (B)96 

(C)90                           (D)126 
 

(vii)अॊतयार ऻात कीस्जए स्जनभें                                                       1 
f(x)=2x2 -3x से प्रदत्त परन f वधणभान हो I  
Find the interval in which the function f given by f(x)=2x2 -3x is 
strictly increasing. 
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(viii) 
sin (tan −1 𝑥)  

1+𝑥2  
   dx फयाफय है _______________               1 

 

 
sin (tan −1 𝑥)  

1+𝑥2  
   dx equals to ___________________ 

 

(ix)   sin7 𝑥  𝑑𝑥
𝜋

2
−𝜋

2

 का भान ऻात कीस्जए I                          1    

Evaluate   sin7 𝑥  𝑑𝑥
𝜋

2
−𝜋

2

  

(x)अवकर सभीकयण                                                                           1 

 
𝑑2𝑦

𝑑𝑥2 
3 

+  
𝑑𝑦

𝑑𝑥
 

2
+ sin  

𝑑𝑦

𝑑𝑥
 + 1 = 0 की घात है___________ 

 
 The degree of the differential equation  

 
𝑑2𝑦

𝑑𝑥2 
3 

+  
𝑑𝑦

𝑑𝑥
 

2
+ sin  

𝑑𝑦

𝑑𝑥
 + 1 = 0 is ______________ 

 

(xi)अवकर सभीकयण 2𝑥2 𝑑2𝑦

𝑑𝑥2  − 3 
𝑑𝑦

𝑑𝑥
 + 𝑦 = 0                           

की कोद्रट है ________________                                                 1 

 The order of the differential equation                                           

2𝑥2 𝑑2𝑦

𝑑𝑥2  − 3 
𝑑𝑦

𝑑𝑥
 + 𝑦 = 0 is__________________ 

(xii)  मद्रद  𝑎 = 2𝑖  + 𝑗  + 3𝑘  औय  𝑏 = 3𝑖  + 5𝑗  − 2𝑘 , तो             
 𝑎 × 𝑏   ऻात कीस्जएI                                                                     1 

Find  𝑎 × 𝑏   ,if 𝑎 = 2𝑖  + 𝑗  + 3𝑘  and 𝑏 = 3𝑖  + 5𝑗  − 2𝑘  
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(xiii)दो बफ ॊदओुॊ (-2,4,-5 ) औय (1,2,3)  को लभराने वारी 
येखा की द्रदक् -कोसाइन ऻात कीस्जए I                                       1 

Find the direction cosines of the line passing through the two 

points(-2,4,-5 )      and (1,2,3). 
 (xiv) मद्रद P(A)= 

1

2
  ,P(B)= 0, तफ P(A/B)  है                                      1 

(A) 0                                              (B)
1

2
 

(C)   ऩरयबावषत नहीॊ                    (D)1 

If P(A)= 
1

2
  ,P(B)= 0,then  P(A/B) is   

(B) 0                                            (B)
1

2
 

(C)   not defined                 (D)1 

(xv) दी गमी घटनामें A औय B ऐसी हैं ,जहाॉ                             1 

P(A)= 
1

4
,        P(B)= 

1

2
  औय       P(A∩B)=  

1

8
,  तफ 

 P(A-नहीॊ औय B-नहीॊ)ऻात कीस्जए I                                                                                       
If A and B are two events such that P(A)=

1

4
,P(B)=

1

2
 and P(A∩B)= 

1

8
, 

then find P(not A and not B). 

(xvi) मद्रद ऩासों का एक जोड़ा उछारा जाता है तो प्रत्मेक ऩासे 
ऩय सभ अबाज्म सॊख्मा प्राप्त कयने की प्रातमकता क्मा है? 1   

The probability of obtaining an even prime number on each die, 
when a pair of dice is rolled is____________________ 
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खण्ड-फ 

SECTION B 

2 .तनधाणरयत कीस्जए कक क्मा तनम्नलरखखत सॊफॊध 
तवतुल्म,सभलभत तथा सॊक्राभक है 

 जहाॉ प्राकृत सॊख्मों के सभुच्चम N भें                                     
R= { (x,y): y= x+5 and x <4 }   द्वाया ऩरयबावषत सॊफॊध है I   2 

Determine whether the Relation R in the set N of natural 
numbers defined as R= { (x,y): y= x+5 and x <4 } is 
reflexive,symmetric and transitive. 
 

3.लसद्ध कीस्जए कक    2tan−1 1

2
 + tan−1 1

7
 = tan−1 31

17
              2 

 Prove that    2tan−1 1

2
 + tan−1 1

7
 = tan−1 31

17
 

 

4. मद्रद A’ =  
−2 3
1 2

    तथा B=  
−1 0
1 2

 ,तो  (A+2B)’ ऻात 
कीस्जएI                                                                   2                         

 

If A’ =  
−2 3
1 2

    and B=  
−1 0
1 2

 ,  then find (A+2B)’ 

5.मद्रद  A= 
3 7
2 5

     औय     B=  
6 8
7 9

 तफ सत्मावऩत कीस्जए 
कक    (AB)-1=B-1A-1  

है I                                                                                                   2 

Let A= 
3 7
2 5

                   and B=  
6 8
7 9

 ,   verify that                    

(AB)-1=B-1A-1  
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6. प्रदत्त परन cos 𝑥3  .sin2( 𝑥5)  का x के साऩेऺ अवकरन 
ऻात कीस्जए I                                                                                   2 

Differentiate the function cos 𝑥3  .sin2( 𝑥5) with respect to x. 
 

7.द्रदए गए परन tan−1 𝑥 की द्ववतीम कोद्रट का अवकरज 
ऻात कीस्जए I                                                                                    2 

Find the second order derivative of the function tan−1 𝑥. 

8.परन       
1

 8+3𝑥−𝑥2
 का सभाकरन ऻात कीस्जए I                2 

Integrate the function      
1

 8+3𝑥−𝑥2
  

 

9. सभाकरन      
 sin 𝑥

 sin 𝑥+ cos 𝑥

𝜋
2

0
 𝑑𝑥 का भान ऻात कीस्जए I 

Evaluate the integral      
 sin 𝑥

 sin 𝑥+ cos 𝑥

𝜋
2

0
 𝑑𝑥                                2           

 

10.अवकर सभीकयण 𝑑𝑦

𝑑𝑥
− 𝑦 = cos 𝑥 का व्माऩक हर ऻात 

कीस्जए I                                                                                             2 

Find the general solution of the differential equation 
𝑑𝑦

𝑑𝑥
− 𝑦 = cos 𝑥 .  

11.दो गेंद एक फॉक्स से प्रतततथाऩना के साथ तनकारी जाती 
हैं I फॉक्स भें 10 कारी औय 8 रार गेंदें हैं तो एक कारी 
औय दसूयी रार गेंद होने की प्रातमकता ऻात कीस्जए I            2        
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 Two balls are drawn at random with replacement from a box      
containing 10black and 8 red balls. Find the probability that 
one  of them is black and other is red. 
 

खण्ड- स 

SECTION- C 

12.  tan−1  
cos 𝑥

1−sin 𝑥
 ,          

−𝜋

2
 < x <       

𝜋

2
         को सयरतभ रूऩ 

भें व्मक्त कीस्जए I                                                                          4 

 Express tan−1  
cos 𝑥

1−sin 𝑥
 ,          

−𝜋

2
 < x <       

𝜋

2
         in the 

simplest form. 
 

13.मद्रद If  𝑦 =  tan−1 𝑥)2 हो तो        दशाणइए कक                                    

  𝑥2 + 1 2  𝑦2     + 2𝑥 𝑥2 + 1 𝑦1 = 2 हैI                                4 

   If  𝑦 =  tan−1 𝑥)2  ,       show that                                    

  𝑥2 + 1 2  𝑦2     + 2𝑥 𝑥2 + 1 𝑦1 = 2 

14.प्रदत्त अॊतयार भें परन f(x)=4x  - 
1

  2
 x2  ,   x∈   −2,

9

2
            

का तनयऩेऺ उच्चतभ भान औय तनयऩेऺ तनम्नतभ भान ऻात 
कीस्जए I                                                                                           4 

 
Find the absolute maximum value and the absolute minimum 

value of the function f(x)=4x -
1

2
 x2  for    x∈   −2,

9

2
  

15.एक बत्रबुज का ऺेत्रपर ऻात कीस्जए स्जसके शीषण A(1,1,2), 

B(2,3,5)  C(1,5,5) हैं I                                                                          4 
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 Find the area of the triangle with vertices A(1,1,2), B(2,3,5) and 
C(1,5,5).  

16.  10 %खयाफ अण्डों वारे एक ढेय से 10 अॊड ेउत्तयोत्तय 
प्रतततथाऩना के साथ तनकारे गए Iइस फात की प्रातमकता ऻात 
कीस्जए कक 10 अॊडो के प्रततदशण भें कभ से कभ एक खयाफ अॊडा 
है I                                                                                                         4                                      

Ten eggs are drawn successively with replacement from a lot 
containing 10% defective eggs. Find the probability that there is 
at least one defective egg. 

खण्ड-द 
                                            SECTION-D 

17.आव्मूह ववधध से तनम्नलरखखत सभीकयण तनकाम को हर 
कीस्जए I     2x+y + z= 1                                                                       6 

                   x-2y-z =  
3

2
 

                     3y-5z=9 
Using matrix method, solve the system of linear equations     
2x+y + z= 1 

                       x-2y-z =  
3

2
 

                           3y-5z= 9 
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18.प्रथभ चतुथाांश भें वक्र y2 =9x, x=2, x=4 एवॊ x-अऺ से तघये 
ऺेत्र का ऺेत्रपर ऻात कीस्जए I                                                  6 

 Find the area of the region bounded by y2 =9x, x=2, x=4 and 
the x-axis in the first quadrant 

अथवा 
OR 

 सभाकरन का उऩमोग कयत ेहुए एक ऐसे बत्रबुज का ऺेत्रपर 
ऻात कीस्जए स्जसके शीषण (-1,0), (1,3) and (3,2) हैं I 
Using integration ,find the area of the the region bounded by 
the triangle whose vertices are (-1,0), (1,3) and (3,2). 

19.  बफ ॊद ुP(6,5,9) से बफ ॊदओुॊ A(3,-1,2),  B(5,2,4)  औय  C(-1,-1,6) 

द्वाया तनधाणरयत सभतर की दयूी ऻात कीस्जए I                             6 

 Find the distance between the point P(6,5,9) and the plane 
determined by the points A(3,-1,2),  B(5,2,4) and  C(-1,-1,6). 

अथवा 
OR 

बफ ॊद ु(-1,-5,-10) से येखा 𝑟    = 2𝑖  − 𝑗  + 2𝑘 +   𝜆 3𝑖  + 4𝑗  +

2𝑘        औय सभतर  𝑟 .  𝑖  − 𝑗  + 𝑘  = 5 के प्रततच्छेदन बफ ॊद ुके 
भध्म की दयूी ऻात कीस्जए I 
Find the distance of the point (-1,-5,-10) from the point of 
intersection of the line                                                                

𝑟    = 2𝑖  − 𝑗  + 2𝑘 +    𝜆 3𝑖  + 4𝑗  + 2𝑘        and   the plane 

𝑟 .  𝑖  − 𝑗  + 𝑘  = 5. 
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20. एक तनभाणणकताण नट औय फोल्ट का तनभाणण कयता हैI  एक ऩैकेट नटों के तनभाणण भें 
भशीन A ऩय 1 घॊटा औय भशीन B ऩय 3 घॊटे काभ कयना ऩड़ता है,  जफकक एक ऩैकेट 
फोल्ट के तनभाणण भें 3 घॊटे भशीन A ऩय औय 1 घॊटा भशीन B ऩय काभ कयना ऩड़ता हैI  

वह नटों से Rs17.50 प्रतत ऩैकेट औय फोल्टों ऩय Rs 7.00 प्रतत ऩैकेट राब कभाता हैI  मद्रद 
प्रततद्रदन भशीनों का अधधकतभ उऩमोग 12 घॊटे ककमा जाए तो प्रत्मेक नट औय फोल्ट के 
ककतने ऩैकेट उत्ऩाद्रदत ककमे जाएॉ ताकक अधधकतभ राब कभामा जा सकेI                      6                                                                  

 
 A manufacturer produces nuts and bolts. It takes 1 hour of work on 
machine A and 3 hours on machine B to produce a package of nuts. It 
takes 3 hours on machine A and 1 hour on machine B to produce a 
package of bolts .He earns a profit of Rs 17.50 per package on nuts and 
Rs 7.00 per package on bolts. How many packages of each should be 
produced each day so as to maximize his profit, if he operates his 
machines for at the most 12 hours a day? 
 


